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5 311[HA 5 Q) | EHER 9m83| 9m99| 9m88| 9m66]| 10m17| 9m62| 10m17
6| 452|®piFz (D) |2 8m76| 8m45| 9m59| 9m39] 9ml17| 8m83| 9Im59
7] 330|8REF  FHK(2) |BUHERE 9m40| X X 9ml11| 8m07| 9ml14| 9m40




8| 261|fkil K (3) [(IEH S 8m24[ 9m32| 8m95[ 8m49| 8m8O[ 8m48| 9m32
9| 124|li'F  LEE (2) [ & 8m62| 8m86| 7m89 8m86
10| 271)A HAE (D) |BEEES 8m23| 8m79| 8m55 8m79
11| 123|159 JRE (1) [BIHs & & 8m35( 8m23| 7m99 8m35
12| 268[HMH  {fFR (2) [FEH R 8ml16| 8m32| 7m77 8m32
13| 8484, B (3) |FIEEILPT =) Tm31| 8m05| 7m93 8m05
14| 206|288k  E Q) |THERAES 6m70| 7m30| 6m96 Tm30
15| 303[H L #iAw (1) | 6m07| 5m82| 6m30 6m30
16| 494(HJH B (2) B T35 6m13| 5m76| 6m19 6m19

=B T MR (1. 750kg)

ZELEK (GR) 41m96 AN s Gl )) 27[E H. 10

ER TN B4 (F5E) (TR 1EIH |21 H |3EIE |4=1H |5EIE |6lE1H [k
1| 857|%&H &L (2) | IR = 33m73| 35m36( 32m16[ X< [ 33mi6[ X< | 35m36
2| 8TH[WEEE MK (2) [P IS & 28m53| 27m18| 31m44| 29m16| 30m26| 30m12| 31m44
3| eroli@mm (2 | X | 23m49| 30m37| X — — | 30m37
4] 263[BPN HhoE (3) [EEEER 28m04[ 27m01| 28m81[ 29m26( 27m34[ — | 29m26
5 310[FFERMIARR (3) | AT HE & 23m30[ 25m79[ 27m82[ X X | 25m16[ 27m82
6] 38I[PEFF LB [HR=ER 25m20( 23m16[ 24m18[ 27m01| 25m11| 26m16{ 27m01
7| 443[ELFERER (3) |FE 240 A 25m01| 25m22| 24m25| X X X | 25m22
8| 268[MHMH fHFR (2) [EEEE R 21m74| 22m88| 20m16| 20m24| 21m16[ 20m89| 22m88
o| 274|mmme—en (1) s X | 19m54| 22m20 22m20
10| 44783 Q) |FESAE 16m87| 18m24| 20m19 20m19
11] 123[55H T2 (1) (B & = 18m22| 18m75| 17m01 18m75
12| 309|/ /s  FREER(3) |HisaEE X 18m03| 18m75 18m75
13| 124|1F  EE (2) |1 = X | 17m08| 18m65 18m65
14] 494|HJH B0 (2) |BIK T 14m85| 15m70| 15m89 15m89
15| 303[H s #idfy (1) | X | 15m59| 14ml11 15m59
BF~—# (7. 260kg)
FLEK (GR) 47m16 (LT Rl (S i e 1) 40[5] H.23

JELR TN R4 () i) 1ElH (2018 [3EIE [4=1H |5EH |6lEH |Flék
1| 500(1LF Kl |SIEEHTEER | 41m96[ 40m16| 43m79| 40m29| X | 44m29| 44m29
2| 157|°FH W (1) B ASER 41m73| X | 42m01| 40m38| 41m26| 40m98| 42m01




BB ~—# (6. 000kg)

ZELFK (GR) 48m28 T# FBF@TE) 36[H] H. 19
NER N R4 (A4 [T 1EIH (21 H |3EIH [4=1H |5EIH [6=1H |Giék
1| 848|ig4 B (3) |BIBRILE =) 38m88| 39m77| 37m26| 40m10| X | 39m86| 40m10
2| 206\ B (Q) |[PEEEE 5m59| 33m35| 34m95| 32m16| X X | 34m95
3| B11|HIA S (3) [ omm03| x| 27ms8[ x| 28m24| x | 28m24
4| 442|HF KRR Q) [T A 22mb4| 27mo6[ x| 27m81| X X | 27m81
5| 309(H /s HEER(3) |HPEEAE S 26m56( X [ 25mi1| X X X | 26m56
6| 261|FkH fEE (3) [HEHS X X X | 25m15[ X — | 25m15
7| 271 FHAE(D) [BREE 16m86| X X X | 15m12| X | 16m86
?ﬁ%ﬁ)n& 62m52 /1R KT (B ) 27001 1. 10
ER TN R4 (CF5E) (T el B (2[E 8 (3[EE [4EH |5EH [6EH [Fidk
1] 263 7 (3) [ 50m92( 48m24| 52m90[ 49m36| 50m21| 48m24| 52m90
2| 310[HERMUKER (3) |H R E & 50m23| 52m44| X X | 50m16| 51m12| 52m44
3| 38L[WEAS K@) [HR=ER 47m36| 50m59| 48m21| 48m16| 48m36[ 49m01| 50m59
4] 129K FEZG) I H 47Tm79| 49m07| X X | 47Tm16| 48m13| 49m07
5| 149\ )11 M- (2) (B NE R 38m68| 39m80| 37m68| 37m46| 44m82| X | 44m82
6| 601|810 J(2) A 35m59| 34m11| 42m60| 38m16| 39m26| 38m45| 42m60
7| 163/ 5% (2) (B AR 40m60| 40m44| 39m21| 39m46| 39m54| 41m39| 41m39
8| 880|fE Kl (3) [HIEEALE = 41m37| 39m28| 40m16| 39m16| 38m26| 39m41| 41m37
9| 308[HH AHFR(3) |HFHEHES 33m08| 37m31| 35m18 37m31
10| 444|=fE  BEEE () | T2 A& 30m88| 25m38[ 37m06 37m06
11| 450|EdE  FIr (2) |20 E 36m68| 32m16| 33m26 36m68
12| 852|{F 7= —RR (3) |HIEE L =) X | 36m59| 34m16 36m59
13| 274 —RB (1) |HEHE S 23m03 [ 29m82| 31m71 31m71
14 291(WH A& Q) |HPHEEES X | 25m77| 23m26 25m77
15| 47858  K— (1) |HIEE LS X | 24m13| X 24m13
16 742|WEEE YR (D) [HIEEBES X | 21mb2f X 21m52
17 493k BUE (2) [FIEE T3S 19m41| x| 20m87 20m87
18] 201|FE i (V) |HEEEES 20m70| X X 20m70
191 672| =#F & (V) |[EEAES X X | 15m82 15m82




